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Exam tips


Advice on key points in the text to help you learn and recall content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers


Turn to the back of the book for the Knowledge check answers.
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Summaries




	
•  Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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About this book



The aim of this guide is to prepare you for the AQA A-level Economics Paper 2 ‘The national and international economy’ examination and for the macroeconomic parts of AQA A-level Economics Paper 3. All the topics explained in this book could be examined in the A-level Paper 3, which is a synoptic paper testing the whole of the A-level specification.




How to use this book


The Content Guidance section of the book covers six macroeconomic topics in the order in which they appear in the AQA A-level ‘The national and international economy’ specification, starting from ‘The measurement of macroeconomic performance’ and finishing with ‘The international economy’. Start by reading this section, topic by topic, before proceeding to the Questions & Answers section of the guide. Alternatively, you may decide to read a particular topic and then the corresponding part of the Questions & Answers section.


This second section of the guide, Questions & Answers, includes examples of all the forms of assessment in the A-level Economics examination. These are multiple-choice questions (MCQs), data-response questions (DRQs), essay questions (EQs) and finally an extended investigation/case study question (IQ).


This guide should be used as a supplement to other resources, such as class notes, the AQA A-level Economics textbook, the Economic Review magazine and My Revision Notes: AQA A-level Economics (all published by Hodder Education). As this guide contains summaries rather than in-depth coverage of all the topics in the specification, you should not use the guide as your sole learning resource during the main part of the course. However, you may well decide to use the guide as the key resource in your revision programme. You are strongly advised to make full use of the Questions & Answers section, especially in the revision period when you should be concentrating on improving your examination skills.















Content Guidance







The measurement of macroeconomic performance


Macroeconomics looks at ‘the economy as a whole’, or in aggregate. Consider the question ‘What determines the price of bread?’ This is a microeconomic question, focusing on supply and demand in a single market within the economy. By contrast, ‘What determines the average price level of all goods and services?’ is a macroeconomic question. Similarly, ‘What determines the annual rate of change of the overall price level, i.e. the rate of inflation?’ is a macroeconomic rather than a microeconomic question. This and similar questions relating to the levels and rates of change of economic variables such as output, consumption, investment, and exports and imports, lie at the heart of macroeconomics.




The objectives of government economic policy


Government economic policy objectives can be microeconomic and not macroeconomic. For example, the objective to reduce a market failure such as pollution would usually be classified as a microeconomic policy objective. Government microeconomic policy is covered in Student Guide 1, particularly in the last topic in the guide. This guide by contrast focuses on macroeconomic policy.




The main objectives of government macroeconomic policy


A policy objective is a target or goal that a government wishes to achieve or ‘hit’. Since the Second World War ended in 1945, governments in mixed economies such as the UK have generally had the same broad range of objectives. These are to:




	
•  achieve economic growth and improve living standards and levels of economic welfare


	
•  limit or control inﬂation, or achieve some measure of price stability


	
•  create and maintain full employment or minimise unemployment


	
•  attain a satisfactory balance of payments, usually defined as the avoidance of an external deficit which might create an exchange rate crisis







Policy conflicts


You should be aware that the importance attached to the different objectives changes over time. For example, in recent decades, control of inflation became the most important macroeconomic objective in the UK. However, following the onset of recession in 2008, and more recently the ‘Covid-19 recession’ which started in 2020, successive UK governments have replaced the control of inflation with the economic recovery objectives of achieving falling unemployment and a satisfactory and sustainable rate of economic growth. At the time of writing in September 2020, it remains to be seen whether continuing economic recovery can be achieved, despite government ministers talking about the economy ‘bouncing back’.


The government may also have other macroeconomic policy objectives, such as balancing the budget and achieving an equitable distribution of income. You should be aware of the possibility of policy conflict arising, at least in the short run, when attempting to achieve these objectives.


Over the years, UK macroeconomic policy has been influenced and constrained by a number of significant conflicts between policy objectives. The main policy conflicts and their associated policy trade-offs are:




	
•  between the internal policy objectives of full employment and growth and the external objective of achieving a satisfactory balance of payments (or possibly supporting a particular exchange rate)


	
•  between achieving full employment and controlling inﬂation


	
•  between increasing the rate of economic growth and achieving a more equal distribution of income and wealth


	
•  between higher living standards now and higher living standards in the future


	
•  at the time of writing, between achieving economic recovery from recession and the public health objective of controlling the Covid-19 pandemic


	
•  in recent years, between achieving economic growth and the ‘green’ policy objective of protecting the environment
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Exam tip


Make sure you understand the difference between a policy conflict and trading off between competing objectives.
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Knowledge check 1


How has the relative importance of different policy objectives changed in the UK in recent years?


[image: ]








Not all objectives conflict, however. Some economists believe that, with the ‘right’ policies, policy conflicts do not occur in the long run — i.e. they are compatible. Most economists agree that these policy conflicts and trade-offs pose considerable problems for governments in the economic short run. However, there is much less agreement about whether they need be significant in the long run — a period extending many years into the future.













Macroeconomic indicators


Whereas a policy objective is a target or goal that a government wishes to ‘hit’, and a policy instrument is a tool used to achieve this end, a policy indicator simply provides the government with information about the state of the economy and/or whether current policy is ‘on course’ to achieve the government’s objectives. Macroeconomic indicators include data which are commonly used to measure the performance of an economy, such as: real GDP, real GDP per capita, consumer prices and retail prices indices (CPI/RPI), measures of unemployment, productivity and the balance of payments on current account.


Along with other data sources, such as surveys of business and consumer confidence and information about new houses being built and summer holidays booked, economic indicators provide the government with information about what is happening, and what is likely to happen, in the UK economy.








Uses of index numbers



Changes in real GDP, along with other economic variables, are often expressed in terms of changes in an index number. Because index numbers frequently appear in the quantitative data you are expected to interpret in the course of your studies, it is especially important that you build up an understanding of how economic indices are constructed.




How index numbers are calculated and interpreted


An index starts in a given year, called the base year, which is usually given an index number of 100, although in some indices such as the Financial Times Stock Exchange Index (the FTSE index or Footsie) the base number is 1,000. In later years or months, an increase in the size of the variable causes the index number to rise above the base number, while a fall in the size of the variable, compared to the base year, results in the index number falling to below the base number. For example, an index number of 108 means an 8% rise from the base year, whereas an index number of 92 means an 8% fall.


In the UK, the consumer prices index (CPI) is calculated as a weighted average of the price change of the goods and services covered by the index. The weights are meant to reflect the relative importance of the goods and services as measured by their shares in the total consumption of households.


There are a number of points to be aware of when interpreting data shown by changes in index numbers:




	
•  Providing you are comparing the index number for one of the years in a data series with the base year index number of 100, the increase in the index number is the same as the percentage increase over the data period you are looking at.


	
•  A change in the index numbers is not the same as a percentage change when a comparison is made with a year other than the base year.


	
•  When comparing data series which are presented in index numbers, relative changes in each data series can usually be identified, but not absolute changes or the absolute levels of the economic variables shown in the data series.













Uses of national income data


Economists use the terms national income, national output and national product interchangeably. To produce the flow of national income or output, the economy must possess a stock of physical capital goods (the national capital stock) and a stock of human capital, together with stocks of the other factors of production: land and entrepreneurship. National income figures can be expressed in nominal or in real terms. The main difference between nominal and real values is that real values are adjusted for inflation, while nominal values are not. It is important to understand that economic growth is measured by changes in real GDP.


National income, national output and national product statistics can also be expressed in gross or net terms. For example, gross national product (GNP) is the flow of national output before taking account of the wear and tear to the stock of capital goods which takes place during the production of national output. Net national product (NNP), by contrast, is the flow of national output after subtracting this wear and tear or depreciation.


When national income statistics are used as indicators of economic growth (and economic development), gross domestic product (GDP) or gross national income (GNI) per capita (per head of population) should be used rather than ‘raw’ GDP or GNI statistics.


It is important to understand the uses and limitations of national income data to:




	
•  assess changes in living standards over time


	
•  compare differences in living standards between countries





When discussing whether national income figures provide the best measures of standards of living, economic welfare and economic development, it is useful first to identify three components of economic welfare. These are shown below:
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If used carefully, national income figures can provide a reasonable estimate of economic welfare derived from the first two of these three elements, both of which relate to the direct consumption of material goods and services. However, national income fails to provide a satisfactory indication of how externalities and other quality of life factors affect economic welfare and living standards. Intangible factors, which are the third element in people’s living standards, are largely ignored. These intangible factors include the value people place on leisure time and living close to work, and the externalities such as pollution and road congestion generated from the production and consumption of national income, which affect people’s welfare and quality of life.
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Knowledge check 2


What is the difference between resource depletion and environmental degradation?
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National income also fails to reflect the effect on humankind’s ability to produce future income of the resource depletion and environmental degradation resulting from producing current income. This means that national income and GDP do not address the issue of sustainability.


National income statistics underestimate activity because the non-monetised economy (such as housework and DIY) is under-represented, and because activity undertaken illegally in the hidden economy (or black economy) is omitted. Improvements in the quality of goods may also be under-represented in national income statistics.


Indicators such as life expectancy, infant mortality rates and literacy rates can be used to supplement national income per head in order to provide a better indicator of the quality of life enjoyed by people.


You must also understand how, in the context of an exchange rate, a purchasing power parity (PPP) exchange rate is used when making international comparisons of living standards. The purchasing power of a currency refers to the quantity of the currency needed to purchase a common basket of goods and services. Purchasing power parity means equalising the purchasing power of two currencies by taking into account the cost-of-living and price-level differences in the two countries. When making comparisons between countries that use different currencies, it is necessary to convert national income values in the different countries to a common currency. This is done by using PPP exchange rates.
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Summary




	
•  The main objectives of government macroeconomic policy are full employment, economic growth, control of inflation, and a satisfactory or sustainable balance of payments on current account.


	
•  The importance attached to the different objectives changes over time.


	
•  Economic data are often presented in the form of index numbers.


	
•  National income concepts such as real GDP per capita must be understood.


	
•  The national income of different countries can be compared using PPP exchange rates.


	
•  It is important not to confuse gross and net, and nominal and real, national income (output and product).
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How the macroeconomy works





The circular flow of income




The difference between nominal national income and real income


National income is the flow of new output produced in the economy during a particular period of time, for example a month, a quarter or a year. Gross domestic product (GDP) is perhaps the most commonly used measure of national income. GDP is the sum of all goods and services, or the level of output, produced in the economy over a period of time, for example one year.


Nominal national income measures the flow of new output at current prices before taking account of inflation or changes in the price level. By contrast, real national income measures the flow of new output after taking account of inflation or changes in the price level.







Real national income as an indicator of economic performance


Indicators of economic performance can be divided into lead and lag indicators. Lead indicators, such as surveys of consumer and business confidence and investment intentions, provide information about the future state of the economy. By contrast, a table showing how real national income has changed over the years is a lag indicator, providing information about past economic growth.







A circular flow of income diagram


The circular flow of income, shown on a circular flow diagram such as Figure 1, can be used to analyse the effects of injections of spending and withdrawals of spending on the national economy. The dashed flow lines in the diagram show the real flows occurring in the economy between households and firms. Households supply labour and other factor services in exchange for goods and services produced by the firms. But these real flows generate money flows (or nominal flows) of income and spending, shown by the solid flow lines.
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The difference between injections into and withdrawals from the circular flow of income



When households save part of their incomes, people are spending less than their incomes. Saving (S), which is an example of a leakage or withdrawal from the circular flow of income, is depicted in the upper of the two horizontal arrows in Figure 1. (Taxation (T) and spending on imports (M) are two further withdrawals of spending from the circular flow of income.)


The lower of the two horizontal arrows shows investment, or spending on machinery and other capital goods, and government spending and exports, each of which is an injection of demand into the economy.







Income = output = expenditure


There are three methods of measuring the flow of new output in an economy.




	
1  The flow of new output can be measured by adding together the incomes received by the different factors of production such as capital and labour. Measured in this way, the flow is called national income.


	
2  The flow can be measured by summing the totals of the actual goods and services produced by the economy. The flow is now called national output or national product.


	
3  We can measure national expenditure. This shows how factor incomes such as wages and profits end up being spent on the goods and services produced by the economy.





Since they are three different ways of measuring the same thing (the flow of new output), and provided that we ignore income flows into and out of the economy, it follows that national income, national output and national expenditure always equal each other and add to the same totals.
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Knowledge check 3


What is the difference between aggregate demand and national expenditure?
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In summary:




	
•  The income approach sums the factor incomes to the factors of production.


	
•  The output approach adds up the ‘value added’ by each of the industries in the economy, such as agriculture, manufacturing and services.


	
•  The expenditure approach sums consumption + investment + government expenditure + exports − imports.










Equilibrium income


Equilibrium national income is the level of income at which withdrawals from the circular flow of income equal injections into the flow. It is also the level of output at which aggregate demand equals aggregate supply.







Full employment income


Equilibrium income is not necessarily the same as full employment income. This is the level of income when the economy is producing at full capacity on its production possibility curve, with no idle resources.








The effect of changes in injections and withdrawals on national income



In circular flow theory, if planned saving (or the planned withdrawal of spending) equals planned investment (or the planned injection of spending into the flow), national income is in equilibrium, tending neither to rise nor to fall. However, if the withdrawal exceeds the injection, the resulting net leakage of spending from the circular flow causes output and income to fall.


Likewise, if the withdrawal is less than the injection, the resulting net injection of spending into the economy causes output and income to rise.


Savings can be hoarded, or the funds being saved can be lent for others to spend. Hoarding — for example, keeping money under the mattress — means that a fraction of income is not spent. This can lead to deficient aggregate demand in the economy, which means there is too little demand to buy the output the economy is capable of producing. Because they cannot sell some of the goods and services they have produced, firms reduce their output and national income falls.
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Knowledge check 4


Use the circular flow model to explain the difference between real and nominal flows.
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However, if all savings are lent, via financial intermediaries such as banks, for firms and other consumers to borrow and then to spend, planned saving may end up equalling planned investment. With this outcome, national income remains in equilibrium and there is no reason why the level of income should fall.










Aggregate demand and aggregate supply analysis


The aggregate demand/aggregate supply (AD/AS) model of how the economy’s goods market operates, which is illustrated in Figure 2 below, is the main theoretical framework used at A-level for explaining macroeconomic issues. For example, the model is useful for analysing the effect of an increase in aggregate demand on the economy.
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The aggregate demand (AD) curve shows the total planned spending of all the economic agents in the economy at different price levels. The AD curve slopes downwards, showing a greater level of aggregate demand at lower price levels. By contrast, the AS curve in Figure 2 slopes upwards, showing that all the producers in the economy plan to supply more at higher price levels.


In Figure 2, the level of equilibrium national income occurs at y1, which is immediately below point X where AD = AS. Equilibrium national income is not necessarily the same as the full employment level of national income, which occurs when the ‘normal capacity’ level of output is produced.


There are in fact two versions of the AS curve, known respectively as the short-run aggregate supply (SRAS) curve and the long-run aggregate supply (LRAS) curve. Figure 2 illustrates an upward-sloping SRAS curve. We explain both the short-run and the long-run AS curves in the next two sections, under under the headings ‘The factors that shift the AD curve and the short-run AS curve’ and ‘The factors that affect the long-run AS curve’.




The factors that shift the AD curve and the short-run AS curve


If either the AD curve or the SRAS curve shifts to a new position, equilibrium national income will change. If any of the determinants of aggregate demand change (apart from the price level), the AD curve shifts to the right or left, depending on whether there has been an increase or a decrease in aggregate demand. As we explain shortly under the heading ‘The determinants of aggregate demand’, a change in any of the components of aggregate demand (consumption, investment, government spending or net export demand) moves the AD curve to a new position.


The position of the SRAS curve is determined by a number of factors, which include firms’ costs of production, for example money wage rates and raw material costs, the taxes firms have to pay and changes in labour productivity. If any of these factors change, the SRAS curve shifts to a new position. For example, an increase in business costs shifts the SRAS curve upwards and to the left.
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Exam tip


Make sure you don’t confuse short-run aggregate supply curves and long-run aggregate supply curves.
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The factors that affect the long-run AS curve


The SRAS curve must not be confused with the long-run aggregate supply (LRAS) curve, which we now explain. The LRAS curve, depicted in Figure 3, shows the maximum level of real output the economy can produce at its production potential, when all the available factors of production are employed and producing at their ‘normal capacity’ level of output (yN).
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In the long run, firms cannot produce more output to meet the increase in aggregate demand, shown by the shift of the AD curve from AD1 to AD2. In the short run, firms may be able to produce beyond their long-run sustainable level of output, but the emerging positive output gap will generate inflationary pressures. In this situation, the excess demand for real output is met by an increase in the price level, with the point of macroeconomic equilibrium moving from point X to point Z.


In summary, a change in businesses’ costs of production shifts the position of an SRAS curve, whereas a change in the economy’s underlying production potential shifts the position of the LRAS curve.







Underlying economic growth is represented by a rightward shift in the long-run AS curve


Underlying economic growth can be illustrated by a movement along the trend output line shown in the upper panel of Figure 4. (Actual growth, by contrast, is shown by a movement along the ‘wavy’ line depicting the economic cycle on the same diagram.) Underlying economic growth is also represented by the rightward shift of the LRAS curve shown in the lower panel of Figure 4.
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How to use AD/AS diagrams to illustrate macroeconomic equilibrium



The concept of macroeconomic equilibrium is exactly the same as the concept of the equilibrium level of national income, which was illustrated in Figure 2. Figure 5, below, goes one stage further and illustrates the concept in a diagram which incorporates the LRAS curve as well as the SRAS curve.
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Knowledge check 5


Distinguish between microeconomic equilibrium and macroeconomic equilibrium.
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Exam tip


There are two ways of stating macroeconomic equilibrium: in the circular flow model (S + T + M = I + G + X) and in the AD/AS model (AD = AS). In an exam context, use the definition you decide is most appropriate to the question you are answering.
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How both demand-side and supply-side shocks affect the macroeconomy


An economic shock is a sudden unexpected event hitting the economy, disturbing either aggregate demand (a demand shock) or aggregate supply (a supply shock). A demand shock shifts the position of the AD curve, whereas a supply shock does the same for the SRAS curve, and in severe cases it also shifts the position of the LRAS curve.


In some cases, an outside shock may affect both aggregate demand and aggregate supply. Thus, looking at the UK economy, the outbreak of a war in the Middle East, for example, may affect aggregate demand by causing a sudden collapse in consumer and business confidence, and aggregate supply via its effect on the supply and price of crude oil. In 2020, the Covid-19 pandemic likewise caused a collapse in consumer and business confidence which led to a global collapse in aggregate demand, and it simultaneously triggered a cataclysmic supply shock through its effect on global supply chains, for example through the collapse of international aviation.










The determinants of aggregate demand


As we mentioned earlier, aggregate demand is total planned spending on real national output in the economy. Aggregate demand is the addition of consumption, investment, government spending and net export demand, and is represented by the equation:


AD = C + I + G + (X − M)


where C, I, G, X and M are the symbols used respectively for planned consumption, investment, government spending and net export demand (X − M). These are often called the components of aggregate demand.


We shall now look in turn at the determinants of each of the components of aggregate demand, starting with consumption:




Consumption (C)


The factors that determine household consumption in the economy also determine household saving. When consumption rises, saving falls, and vice versa. The determinants of consumption (and saving) include the following:




	
•  Interest rates The rate of interest rewards savers for sacrificing current consumption, and the higher the rate of interest, the greater the reward. Thus, at any particular level of income, the amount saved increases as the real rate of interest rises and the amount spent on consumption falls.


	
•  The level of income Consumption rises as income increases, but it generally rises at a slower rate than income. As a result, households save more as their incomes increase. The famous economist John Maynard Keynes, who many believe more or less invented modern macroeconomics, argued that the level of income is the most important determinant of consumption and saving.


	
•  Expected future income The current level of income in a particular year may have much less influence on a person’s planned consumption than some notion of expected income over a much longer time period, perhaps extending over the individual’s remaining life. Many people save, especially early in their working lives, to finance house purchase, and then continue to save to finance retirement or to protect dependents against the financial problems that would result from the saver’s early death. Saving undertaken over a number of years is followed in later years by dissaving, when a house is purchased or upon retirement.


	
•  Wealth When household wealth increases — for example, when house prices or share prices rise — people often decide to consume more and save less. For members of households, an increase in wealth does their saving for them.


	
•  Consumer confidence When consumer confidence increases, households generally spend more and save less, whereas a fall in optimism (or a growth in pessimism) has the opposite effect. This links in with the wealth effect just described. As well as becoming wealthier, owner-occupiers become more confident about the future when house prices are rising faster than general inflation. Rapidly rising house prices lead to a consumer spending spree in the shops.


	
•  The availability of credit When credit becomes easy to obtain, consumption increases as people supplement current income by borrowing on credit created by the banking system.
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Knowledge check 6


How does the rate of interest affect saving and investment?
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The determinants of saving


If we simplify and assume that there are no imports or taxes, saving is simply income which is not consumed. It follows that the determinants of saving are exactly the same as the determinants of consumption explained above. In summary, the determinants of saving (and of consumption) are the rate of interest, the level of income, expected future income, wealth, consumer confidence, and the availability of credit.








Investment (I)



The determinants of investment include the following:




	
•  The rate of interest From a firm’s point of view, the rate of interest is the cost of borrowing. Firms invest more as the rate of interest falls, since it becomes cheaper to raise the funds to finance investment in new capital goods.


	
•  Business confidence Investment increases as business confidence grows because entrepreneurs believe that higher profits can be made in the future.


	
•  Technical progress Existing machinery will eventually become obsolete or out of date. Firms invest in new state-of-the-art plant and machinery, which replaces old capital equipment.


	
•  The relative prices of capital and labour When wages rise relative to the price of capital, firms tend to adopt more capital-intensive technologies, replacing labour with capital. To remind you, investment is spending on capital goods.


	
•  The accelerator process A firm producing at full capacity has to invest in extra capacity in order to meet higher future demand for its output. The accelerator is the number that links the change in current output to the extra capital needed to produce the additional output. For example, if the value of the accelerator is 4, one unit of extra output next year requires investment in four units of extra capital this year.
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Knowledge check 7


Distinguish between consumption, saving and investment.
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The difference between saving and investment


Students often confuse saving and investment, wrongly treating them as interchangeable terms. As mentioned, saving is simply income which is not spent. For the most part, households make savings decisions, though firms can also save when they keep cash reserves which they do not spend.


By contrast, firms make investment decisions when they purchase new capital goods. Along with consumption, government spending and net export demand, investment is one of the components of aggregate demand. An increase in investment shifts the AD curve to the right, and, as one of the ‘engines’ of economic growth, investment also has a supply-side effect, shifting the LRAS curve rightwards.







The government sector (G)


The government sector is a source of aggregate demand in the economy (government spending) and — through taxation — the government is also responsible for a major leakage of spending out of the circular flow of income. The net effect of government spending on aggregate demand depends on the nature of the government’s budget. There are three possibilities:




	
•  A budget deficit (G > T), when government spending is greater than tax revenue, represents expansionary fiscal policy, with the government injecting spending and demand into the economy.


	
•  A budget surplus (G < T) is the opposite. There is a net leakage of spending out of the economy as tax revenue exceeds government spending. Fiscal policy is contractionary or deflationary.


	
•  The government may aim for a balanced budget (G = T), which has a generally neutral effect on aggregate demand.











The overseas sector (X − M)



We have explained that spending on UK exports by residents of other countries is an injection of spending into the UK economy and increases aggregate demand. Conversely, spending by UK residents on imports produced in other countries is a leakage of spending, which decreases aggregate demand. When X > M, the balance of payments on current account is generally in surplus. But when X < M, there is generally a balance of payments deficit on current account.
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Knowledge check 8


What effects will a cut in the rate of income tax have on aggregate demand and aggregate supply?
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Aggregate demand and the level of economic activity


Figure 6 shows an upward-sloping SRAS curve, together with a number of AD curves. The position of each of the AD curves is determined by adding together all the components of aggregate demand C + I + G + (X − M). If one or more of the components of aggregate demand change, the AD curve shifts to a new position. For example, an increase in consumption, investment or overseas demand for the country’s exports shifts the AD curve to the right (from AD1 to AD2 in Figure 6), as does a fall in imports or an increase in government spending. Conversely, a decrease in C, I or X, or an increase in M, would shift the AD curve to the left, as would a fall in government spending.
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Figure 6 tells us that, with an upward-sloping SRAS curve, an increase in aggregate demand can simultaneously reflate real output and create jobs, and inflate the price level. The extent to which the demand increase is reflationary or inflationary depends on the steepness of the SRAS curve to the right of the initial macroeconomic equilibrium. Suppose, for example, that macroeconomic equilibrium is initially at point X in Figure 6, with the aggregate demand curve in position AD1. In this situation, which depicts a recessionary economy suffering significant demand deficiency, an increase in aggregate demand to AD2 increases both output and the price level.


Although the increase in aggregate demand simultaneously reflates and inflates the economy, the reflationary effect is greater as long as the SRAS curve is gently sloped. Real output and the price level both increase, to y2 and P2 respectively, to bring about a new macroeconomic equilibrium at point Z.


However, as the SRAS curve becomes steeper, any further increase in aggregate demand, for example to AD3, is more inflationary than reflationary. The increase in aggregate demand to AD3 moves macroeconomic equilibrium to point W. Real output has increased to y3, and the price level has risen to P3. Finally, following the move from AD3 to AD4, the new macroeconomic equilibrium occurs at point V.


The diagram tells us that any further increase in aggregate demand to the right of AD4 solely causes inflation. The economy produces at full capacity (being on its production possibility curve), so real output cannot increase any further, at least in the short run.




The multiplier process


The national income multiplier measures the relationship between an initial change in a component of aggregate demand, such as government spending or investment, and the resulting change in the level of national income. Suppose, for example, that government spending increases by £10 billion and that households receive this sum. Most, but not all, of the £10 billion is then spent on consumption — though part of it leaks into saving, taxation and imports. The fraction spent on consumption increases shopkeepers’ incomes. At the next stage, the shopkeepers spend a fraction of their extra income on consumption, which causes a further increase in consumer demand. The process continues with successive spending increases, each of which is accompanied by an equal increase in national income and output.


Because the total amount by which income and output increases is a multiple of the initial increase in spending, the process is known as the multiplier process. For example, if the size of the multiplier is 2, an initial increase in government spending of £10 billion causes national income to rise by £20 billion.







The accelerator and the investment multiplier


We shall now compare the accelerator, which we mentioned in the previous section when explaining the determinants of investment, and the multiplier. We mentioned above that the multiplier measures the relationship between an initial change in any of the components of aggregate demand and the resulting change in the level of national income. The two most commonly quoted multipliers are the government spending multiplier and the investment multiplier.
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Exam tip


Multiple-choice questions in Paper 3 are used to test your understanding of the multiplier and the accelerator, and the difference between the two concepts. At A-level you may be required to calculate a simple multiplier from data provided. Students often confuse the investment multiplier with the accelerator. The accelerator works in the opposite direction to the investment multiplier.
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The accelerator


Whereas the accelerator measures how a change in the rate of growth of national income induces a change in the level of investment, the investment multiplier measures how a change in private sector investment induces a change in the equilibrium level of national income, which ends up as a multiple of the initial change in investment.


The accelerator theory stems from the assumption that firms wish to keep a relatively fixed ratio, known as the capital–output ratio, between the output they are currently producing and their existing stock of fixed capital assets. For example, if four units of capital are needed to produce one new unit of output, the capital–output ratio is 4 to 1. The capital–output ratio is the accelerator.


To understand why the theory is called the accelerator theory, consider the following:




	
•  If output grows by a constant amount each year, firms invest in exactly the same amount of new capital each year to enlarge their capital stock, so as to maintain the desired capital–output ratio. From year to year, the level of investment is therefore constant.


	
•  If the rate of growth of output accelerates, investment also increases as firms take action to enlarge the stock of capital to a level sufficient to maintain the desired capital–output ratio.


	
•  Conversely, when the rate of growth of output decelerates, investment declines.


	
•  As firms adjust their stocks of capital to maintain the capital–output ratio at 4 to 1, relatively slight changes in the rate of growth of income or output cause large absolute rises and falls in investment.










The multiplier


To repeat, the investment multiplier measures how a change in private sector investment induces a change in the equilibrium level of national income, which ends up as a multiple of the initial change in investment. Besides the investment multiplier, there is a government spending multiplier, a tax multiplier, an export multiplier and an import multiplier. Taken together, the government spending and tax multipliers are known as fiscal policy multipliers. Likewise, the export and import multipliers are foreign trade multipliers.


The multiplier process, which is essentially dynamic, taking place over time, resembles ripples spreading over a pond after a stone has been thrown in the water. Figure 7, which shows the government spending multiplier, depicts the ripple effect, through which the eventual change in national income is larger than (a multiple of) the initial change in aggregate demand which started the process.
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The formula you need to know for calculating the value of the multiplier is:
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where k is the multiplier and MPC is the marginal propensity to consume. The MPC is the fraction of any increase in income which people plan to spend on the consumption of domestically produced goods, after allowing for the fraction of the increase in income which they pay in taxation to the government, and the fraction spent on imported goods. In Figure 7 we have assumed that people, on average, plan to spend 20p of an income increase of £1 on consumption. This means that the MPC is 0.2, and that at each stage of the multiplier process 20% of income is spent on consumption. In Figure 7, assuming an initial change in government spending of £10 billion, we have numbered the first three stages (£10bn, £2bn and £0.4bn), but adding on the subsequent stages, national income eventually increases to £12.5 billion. In this example, the size of the multiplier is 1.25.
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Exam tip


You need to understand the formula for the simple multiplier.
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Knowledge check 9


What is the difference between the investment multiplier and the accelerator?
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